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Section : General Knowledge

Q.1 In which year was the first census held in India?

e ww aw (Efw) me G

Ans » 1.1875
® 2.1877
% 3.1879

v 4.1872

Q.2 What is the name of the mascot for the Khelo India Youth Games 2025, and what does it represent?
Ans  x 1. Simhaketu - A lion deity from the Konark Sun Temple carvings

x 2. Gajraj — A traditional elephant from Kerala festivals

3. Himmat - A royal tiger from the Satpura forest

« 4. Gajsingh - A mythical elephant-lion from Pala-period temples

Q.3 In which year was Alai Darwaza built by Alauddin Khalji?
Ans  x 1 1303

v 2 1311

x 3. 1320

x4 1315

Q.4 To which state of India does Reang tribe belong?
Ans  x1.Sikkim

* 2. Madhya Pradesh

« 3. Tripura

4. Rajasthan

0.5  The Siachen Glacier, the world highest battlefield is located in which State/UT of India?

Ans « 1. Ladakh
% 2. Arunachal Pradesh
X 3. sikkim
X 4. Himachal Pradesh
0.6  Who among the following have the authority to declare any area in the country as Schedule Area?
Ans « 1. President of India
x 2. Chief Justice of India
¥ 3. Chairman of the Commission for SCs
x 4. Prime Minister of India
Q.7 Who has been appointed as the first Executive Director of the Fund for Responding to Loss and Damage, which was
created to support countries affected by climate disasters?
Ans  x 1.Richard Sherman
« 2. Ibrahima Cheikh Diong
x 3. Simon Stiell

* 4. Selwin Hart
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Q.8 When was the Government of India Act passed by the British, which ended the rule of the East India Company in
India?

Ans  x1.1859
% 2.1919
x3.1857
»4.1858
Q.9 Which of the following Constitutional Amendment Acts added a new Fundamental Duty which reads, 'It shall be the

duty of every citizen of India who is a parent or guardian to provide opportunities for education to their child or

ward between the age of six and fourteen years'?
Ans 5 1.93rd
x 2.96th
» 3.86th

x 4.103rd

Q.10 In which of the following stages does the Minister desire to introduce a Bill and give a written notice for it?
Ans  x 1. Final Reading

« 2. Second Reading

« 3. First Reading

4. Third Reading

Q.11  Who approves the Fair and Remunerative Price (FRP) of sugarcane in India?
Ans  x 1. Food Corporation of India

+« 2. Cabinet Committee on Economic Affair

3. Ministry of Agriculture and Farmers' Welfare

% 4. Commission for Agricultural Costs and Price
Q.12 Match the following regions with the minerals they produce.
a) Jharia i) Iron
b) Mayurbhanj ii) Coal
c) Katni iii) Petroleum
d) Mumbai High iv) Bauxite
Ans  x1.a)i, b)ii,c)iii, d) iv
x 2.a)iii, b) iv, ¢) i, d) ii
& 3.3) ii,b) i, ) iv, d) iii
x 4.a) i, b)iii, c) ii, d) iv
Q.13 Narendra Modi was the Chief Minister of which state when he became the Prime Minister in May 2014?
Ans « 1. Gujarat
x 2. Madhya Pradesh

x 3. Maharashtra

x 4. Uttar Pradesh

Q.14 Which political party secured a significant majority in the 2024 United Kingdom general elections?
Ans  x 1. Republican Party

2. Liberal Democrats Party

x 3. Conservative Party

« 4. Labour Party



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Q.15 In December 1929, under the presidency of Jawaharlal Nehru, the

Congress formalised the demand of ‘Purna

Swaraj’ or full independence for India.
Ans * 1. Nagpur
x 2.Surat
x 3. Calcutta

« 4. Lahore

Q.16 The Tripartite Treaty was signed between the British East India Company, Shah Shuja, and Maharaja Ranjit Singh in

Ans  x 1. September 1838
2. June 1838
x 3.July 1838

* 4. August 1838

0.17 Which of the following dynasties' rule over the Delhi Sultanate began in 1414 and ended in 14517
Ans 1. Khalji Dynasty

« 2. Sayyid Dynasty

« 3. Lodi Dynasty

x 4. Tughlag Dynasty

Q.18 At the World Bank Land Conference 2025, why was India recognised as a Country Champion?
Ans 1. For completing nationwide land redistribution to rural poor

x 2. For promoting forest-based tribal livelihoods through GIS

« 3. For pioneering digital land governance via schemes like SVAMITVA

4. For launching Smart City reforms through World Bank loans

Q.19 In which of the following states is black soil found?
Ans  x 1. Himachal Pradesh

* 2. West Bengal

x 3. Uttar Pradesh

« 4. Maharashtra

Q.20 Which two organisations jointly conducted 'Exercise Raahat' to strengthen India’s disaster response capabilities?
Ans « 1. Indian Air Force and National Disaster Response Force (NDRF)

% 2. Indian Army and Central Reserve Police Force (CRPF)

« 3. Indian Army and National Disaster Response Force (NDRF)

x 4. National Disaster Management Authority and Indian Navy

Section : Logical Reasoning

Q.21 Refer to the following letter series and answer the question that follows. Counting to be done from left to right
only.
(Left end) CXVESHMNUFZMHSEV XC (Right end)
Which letter is fifth to the right of the seventh letter from the right end in the above series?

Ans x1 M
x2.U
& 3. X

x4.H
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Q.22 What will come in place of the question mark (?) in the following equation if ‘+’ and x* are interchanged and ‘-’ and

‘+” are interchanged?

14x4+6+35-7=2?
Ans « 1.33

x2.28

x3.38

x 4.35

Q.23 Select the option figure that will replace the question mark (?) in the figure given below to complete the pattern.

Ans 1.

gi7aN
Q.24 If 1is added to each odd digit and 2 is subtracted from each even digit in the number 4716832, how many digits will
appear more than once in the new number thus formed?
Ans % 1.0ne
* 2. Four
« 3. Two
x 4. Three
Q.25 B is the father of C. Q is the son of P. C is the sister of M. L is married to Q. P is the wife of M. How is M related to
L?
Ans  x 1. Wife's father
« 2. Husband’s father
x 3. Father’s sister
x 4. Wife's brother
Q.26 GTBD is related to IVDF in a certain way based on the English alphabetical order. In the same way, OBJL is related to
ODLN. To which of the given options is UHPR related, following the same logic?
Ans « 1. WJRT
x 2. WRGY
x 3. WRTY
x 4. WGYU
Q.27 What will come in place of the question mark (?) in the following equation if ‘" and -’ are interchanged and ‘=’ and
‘+” are interchanged?
192 +6-13 +33x11=7?
Ans x1.432
x2.426
% 3.429

»4.438
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Q.28 Select the set in which the numbers are related in the same way as are the numbers of the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 — Operations on 13 such as adding/subtracting/multiplying etc. to 13, can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(3, 24, 16)
(2,18, 11)

Ans  x1.(6,16,9)
@ 2.(9,21,7)
x3.(1,56,3)
x4.(2,12,3)

Q.29 22 s related to 472 following a certain logic. Following the same logic, 4 is related to 4. To which of the given

options is 18 related, following the same logic?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 — Operations on 13 such as adding/subtracting/multiplying to 13 can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)
Ans x1.172
% 2.181
v3.312
x4.169
Q.30 Six people, T, U, V, W, H and |, are sitting around a circular table facing the centre of the table. Only two people sit

between T and | when counted from the left of I. V sits third to the left of U. H sits to the immediate right of U. |
sits second to the left of H. How many people sit between W and V when counted from the right of wW?

Ans x 1. Three
» 2. Two
% 3.0ne
« 4. Four
Q.31 Each vowel in the word SPEAKER is changed to the letter immediately following it in the English alphabetical order

and each consonant is changed to the letter immediately preceding it in the English alphabetical order. Which of

the following letters will appear exactly twice in the group of letters thus formed?
Ans x 1S
e 2. F
x3.B
x4.0
Q.32 Each vowel in the word ‘GARDEN’ is changed to the letter immediately following it in the English alphabetical order
and each consonant is changed to the letter immediately preceding it in the English alphabetical order. All the

letters thus formed are then arranged in the English alphabetical order. Which of the following letters will be on

the third position from the left of the new group of letters thus formed?
Ans *x 1M
w2 F
x3.0
x4.B
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Q.33 Select the pair that follows the same pattern as that followed by the two pairs given below. Both pairs follow the

same pattern.
ZCK : WG)J
LIT : IMS

Ans » 1. DOE : KMC
v 2. MOB : JSA
% 3.COD : MFJ

x 4. MOC : FMK

Q.34 What should come in place of the question mark (?) in the given series?

412 401 414 403 416 ?
Ans x 1.407
x2.4M
% 3.403
4. 405

Q.35 Three of the following four word-pairs are alike in a certain way and thus form a group. Which word-pair DOES NOT
belong to that group?

(NOTE: The words must be considered as meaningful English words and must not be related to each other based on

the number of letters /number of consonants/vowels in the word.)
Ans  x 1. Ants: Colony
x 2. Lions : Pride
x 3. Geese : Gaggle

« 4. Fish : Pack

Q.36 What should come in place of the question mark (?) in the given series?

4824481447
Ans x 1 oogy
¥ 2. 288
%3 144
x4 143
Q.37 Six people, G, H, 1, ), S and T, are sitting around a circular table, facing the centre of the table. | sits fourth to the

right of J. Only two people sit between S and G when counted from the left of S. I sits third to the left of H. H sits

immediately between J and G. How many people sit between S and T when counted from the right of S?
Ans x 1. Two
« 2. Three
x 3.0ne
x 4.None
Q.38 Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and

thus form a group. Which letter-cluster DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Ans x 1 ILG
v 2.GJF
x 3. EHC

x 4. CFA
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Q.39 Which of the following letter-clusters should replace # and % so that the pattern and relationship followed

between the letter-cluster pair on the left side of :: is the same as that on the right side of ::?

#:NPO :: 1K) : %
Ans  x1.#=050,%=EGG

x 2.#=QSR, % = FGH

3. #=05R, % = FHG

x 4. #=0UT, % = FHG

Q.40 Refer to the following letter series and answer the question.
(Left) ZXTRKJLMQPNVWFGHILOPWSNZCB A K (Right)

How many consonants are present according to English alphabet between the fourth letter from the right and the
third letter from the left?

Ans  x 1. Eight
x 2. Twelve
« 3. Thirteen

* 4. Nine

Section : General English and Comprehension

Q.41 Select the most appropriate option to fill in the blank.

He worked ___ to complete the project on time.
Ans  x 1. hardness
2. hard
x 3. hardly
x 4. hards

Q.42 Select the most appropriate options to fill in the blanks.

__________ he is very smart ____ he is too insightful.
Ans 1. Neither; nor

x 2. Either; or

« 3. Not only; but also

x 4. As; yet

Q.43 Select the most appropriate meaning of the given word.

Shard
Ans x 1. Union
x 2. Whole
« 3. Fragment
x 4. Expansion
Q.44 Select the most appropriate meaning of the given idiom.
Let the grass grow under one’s feet
Ans « 1. To delay taking action
x 2. To take a firm stand
3. To work tirelessly

x 4. To create unnecessary problems
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Q.45 Select the option that can be used as a one-word substitute for the given group of words.

A person who makes maps
Ans » 1. Astronomer

* 2. Geologist

x 3. Physicist

« 4. Cartographer

Comprehension:

Read the given passage and answer the questions that follow.

The Roman Empire can broadly be divided into two phases, ‘early’ and ‘late’, divided by the third century as a sort of historical
watershed between them. In other words, the whole period down to the main part of the third century can be called the ‘early
empire’, and the period after that the ‘late empire’. The Roman Empire was a mosaic of territories and cultures that were chiefly
bound together by a common system of government. Many languages were spoken in the empire, but for the purposes of
administration, Latin and Greek were the most widely used languages. The upper classes of the east spoke and wrote in Greek,
those of the west in Latin, and the boundary between these broad language areas ran somewhere across the middle of the
Mediterranean, between the African provinces of Tripolitania (which was Latin speaking) and Cyrenaica (Greek-speaking). All
those who lived in the empire were subjects of a single ruler, the emperor, regardless of where they lived and what language they

spoke.

SubQuestion No : 46
Q.46 Which pair of terms is used in the passage to denote the historical division of the Roman Empire?
Ans  x 1. Latin and Greek

2. Prehistoric and Historic

% 3. Ancient and Modern

& 4. Early and Late

Comprehension:

Read the given passage and answer the questions that follow.

The Roman Empire can broadly be divided into two phases, ‘early’ and ‘late’, divided by the third century as a sort of historical
watershed between them. In other words, the whole period down to the main part of the third century can be called the ‘early
empire’, and the period after that the ‘late empire’. The Roman Empire was a mosaic of territories and cultures that were chiefly
bound together by a common system of government. Many languages were spoken in the empire, but for the purposes of
administration, Latin and Greek were the most widely used languages. The upper classes of the east spoke and wrote in Greek,
those of the west in Latin, and the boundary between these broad language areas ran somewhere across the middle of the
Mediterranean, between the African provinces of Tripolitania (which was Latin speaking) and Cyrenaica (Greek-speaking). All
those who lived in the empire were subjects of a single ruler, the emperor, regardless of where they lived and what language they

spoke.
SubQuestion No : 47
Q.47 According to the passage, which languages were primarily used for administration in the Roman Empire?
Ans  x 1. Arabic and Hebrew
x 2. Parthian and Sasanian
« 3. Latin and Greek

x 4. Latin and French
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Comprehension:

Read the given passage and answer the questions that follow.

The Roman Empire can broadly be divided into two phases, ‘early’ and ‘late’, divided by the third century as a sort of historical
watershed between them. In other words, the whole period down to the main part of the third century can be called the ‘early
empire’, and the period after that the ‘late empire’. The Roman Empire was a mosaic of territories and cultures that were chiefly
bound together by a common system of government. Many languages were spoken in the empire, but for the purposes of
administration, Latin and Greek were the most widely used languages. The upper classes of the east spoke and wrote in Greek,
those of the west in Latin, and the boundary between these broad language areas ran somewhere across the middle of the
Mediterranean, between the African provinces of Tripolitania (which was Latin speaking) and Cyrenaica (Greek-speaking). All
those who lived in the empire were subjects of a single ruler, the emperor, regardless of where they lived and what language they
spoke.

SubQuestion No : 48

Q.48 Which of the following is an ANTONYM for the given word as used in the passage?

Bound
Ans « 1. Untied
2. Varied
x 3. Multifaceted

x 4. Certain

Comprehension:

Read the given passage and answer the questions that follow.

The Roman Empire can broadly be divided into two phases, ‘early’ and ‘late’, divided by the third century as a sort of historical
watershed between them. In other words, the whole period down to the main part of the third century can be called the ‘early
empire’, and the period after that the ‘late empire’. The Roman Empire was a mosaic of territories and cultures that were chiefly
bound together by a common system of government. Many languages were spoken in the empire, but for the purposes of
administration, Latin and Greek were the most widely used languages. The upper classes of the east spoke and wrote in Greek,
those of the west in Latin, and the boundary between these broad language areas ran somewhere across the middle of the
Mediterranean, between the African provinces of Tripolitania (which was Latin speaking) and Cyrenaica (Greek-speaking). All
those who lived in the empire were subjects of a single ruler, the emperor, regardless of where they lived and what language they

spoke.
SubQuestion No : 49

Q.49 Which of the following can be used as a suitable title for the given passage?

Ans  x 1. The Roman Empire's administrative languages

« 2. Linguistic and Cultural Dynamics of the Roman Empire
x 3. The geographical divisions of the Roman Empire

% 4. Class Structure in the Roman Empire
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Comprehension:

Read the given passage and answer the questions that follow.

The Roman Empire can broadly be divided into two phases, ‘early’ and ‘late’, divided by the third century as a sort of historical
watershed between them. In other words, the whole period down to the main part of the third century can be called the ‘early
empire’, and the period after that the ‘late empire’. The Roman Empire was a mosaic of territories and cultures that were chiefly
bound together by a common system of government. Many languages were spoken in the empire, but for the purposes of
administration, Latin and Greek were the most widely used languages. The upper classes of the east spoke and wrote in Greek,
those of the west in Latin, and the boundary between these broad language areas ran somewhere across the middle of the
Mediterranean, between the African provinces of Tripolitania (which was Latin speaking) and Cyrenaica (Greek-speaking). All

those who lived in the empire were subjects of a single ruler, the emperor, regardless of where they lived and what language they
spoke.

SubQuestion No : 50

Q.50 Which of the following is a summary of the passage?

Ans 1. The Roman Empire was united under a common system of government despite cultural and linguistic diversity.
% 2. The Roman Empire underwent distinct phases known as early and late periods.

% 3. The Roman Empire's administrative language was primarily Greek but those who spoke Latin were also considered as the
subjects of the empire.

« 4. The Roman Empire was linguistically divided into Latin and Greek speaking regions.
Q.51 ‘3R’ &I gAfgardt o= gm-
Ans  x1.3ddr
7(2.33
v3.¢d
xA4R
Q.52 '3id ual A A Al dABIfb BT ALk 37ef -
Ans 1. 319 PoreT ST
x2. MBI E
« 3. IRUTH 3761 &l ST d Y9 S8 36T HA1 AT &
x 4. T9HT1 91 2P181 BRAT
0.53 ‘o feusT yafaard &2
Ans  x1.%d
* 2. gargn
* 3. 3P
Y- |
0.54 '35PR &Y 7 ATH G B 7 B’ clbifth &1 3 T 8-
Ans  x 1.35PR 3R 98I 3R &
o 2. SR TIbI 7TIHATY T Bl &l
X 3. 35PR 3R J6 U IR F Ul B
X 4. 35PR US g TR gl

Q.55 3R faA9u A FAHR Nb WA W

Ans  x 1. ®HA
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Comprehension:

R ITENST Bl Ygeh? I8 ITC Yl & 3tk ST :

‘I o1 ¥ 5T offworen & e siia-wre 9 @ 8. 39 98 s sl oft ol 78 & Jasen, S guary Soe Afaddera ae -
AR 38| 7@ & 98 foP Tl &, T BIhT ¥l &, 3 SR BT GHerabR Y 9¢ Jhdl 2l &l 37 39S ATHdaR @ 3 fFAN el
3 3R 3119 AP §¢ SN 3PR GH 39 i § 6 BT A18d @, 3PR JFe HIAT Siad Fohet ST 8, dl I TIdaHfa g <fg, 39
0TI W) g€ I 1RU 3R 3R STHBR BIH BT 9112 517 Afth § 3 3[071 910 571 &, 39H 31y [0 &1 Hraen off g 21 sia 5 fawer &
3R 3T & ¥Ed &, TR AgS 1 O AT & off famfera 7 @iy Rayawst 3iR 319 eRon3t iR 2 &1 ardn &1 IR & ot 7 sl
& SAfthea H §H I S ITd 81

SubQuestion No : 56
Q.56 U el Y WA § -
Ans x 1. PIATHDAT
o 2. fa=mRygen
x 3. fdamerg
x 4. aravery

Comprehension:

IR STEISl Bl Ugeb? g TV G4 & IR GIfST

'FeiHT T B o1 90T & W1 Siia-Tay I a1 2. 39K g Afth 1 off fasrll 981 @ Fapan, s Ju=g dosbR AfISEHBId db Hddl-
TR 38T | FE A a8 0P Wbl &, ForTH B ¥Bfel 8, ST IR I PP AT ¢ Tl g1 8l dl 51 I ATPAaR & 39 bR epel
33T 3R 319 37731 §¢ ST | 3R JH 39 519 H B B A1Ed @, 3R R YT SNa Ihel a1 8, A qre TIS=H(d a1 Ffe, 379
AU 4R £ & 1RV 3R 3R STHSBR B9 B dNfeV| 5 Afth H 3 707 910 377d &, 390 H= [0l o1 FAraer of &l &1 e § fa<e &
3R AT & 380 &, W AT P O AT & off fRrarfera =1 greey Ravst 3R 319+ eRomsi &R 2% & 8iaT &1 IR & 9ot A Afsdl
& fthed H gH I6 e urd &1

SubQuestion No : 57
Q.57 9¥d 3G ¥ 'Tg@=nfa I &1 A & -
Ans 1 RA-GRd

x 2. BIfSRSTare!

x 3. fAgor

x 4. BIIPAA

Comprehension:

TR ITEieT BT qgehR 8 T Ui & 3R dIfSie

FAHIA T 7 o1 Ai9urdT & 1o Siia-3ay I @1 8. 397 98 Afth Boft off sl 48 & wea, s gy 9oex Hfacidere de -
AR I FE I8 o Tbel1 &, B HIhT ¥pfef &, 5 GURI Y GH bR 301 ¢ Tbdl 2l F& dl 3if 39 APAR & 39 PR &b
33T 3R 319 3771 §¢ ST | 3R JH 89 319 § 6 A1 I18d @, 3PR R A9 SNa Ibed a1 8, A g TIA=H a1 afey, 319
AU 4R € & IRV 3R 3R STHSBR 19 B A1fev| 5 Afth H 3 307 910 377d &, 396 3=y [0l b1 Frraer off & &1 sha § oo &
37ARR 3T &1 Y8 &, TR AgS 1 O AT & off farfera A 2oy Ryawst 3MR 319+ eRon3t oR o 381 2l &1 IR & Il 7ei Afhal
& =Afthed 1 &9 I afrs urd &'

SubQuestion No : 58
Q.58 U TN BT S A § -
Ans  x 1. 319%ddl &I quiA

x 2. Tl & BRPI bl Tgdr
3. 3la-3gd %71 guiq

x 4. 38T Bl qui
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Comprehension:

R ITENST Bl qgeh’ I8 ¢ Yl & 3R dIfSY -

‘I o1 ¥ 5T offworn & e shia-wre I @ 8. 39 a8 s woft oft ol 78 & T, S guary Soe Afaddera ae -
faaRaT M| A @ a R el &, SR PTohl IBRT 2, ST GRT BY GbcIahy 311! ¢ Jbal 81 ALl dl 31 3T AHAR & 34 fFIR Gba
3 3R 3119 AP §¢ SN 3PR GH 39 i § 6 BT A18d @, 3PR TFe HIAT Siad Ahet ST &, Ol g TId=Hfd g =g, 397
40T W) g€ I 1RU 3R 3R STHBR BIH B 91feC| 51 Afeh § 3 3[071 910 571l &, 397 317 [0l &1 \eraen off g 21 5iia § fawret &
IR AT & I8 8, W AT P O AN & off fRraferd 7 sy Rawst 3R 319 eRomsi R 23 I 8iar 81 IR & [oft Her sl
& SAfthea H §H I S I1d 81

SubQuestion No : 59
Q.59 Ud &Y & fore 3y M g -
Ans  x 1. fasE Aqs
x 2. fpaneiet o=
FERIGHICEEE
x 4. RIS 7

Comprehension:

YR STEIel Bl Ugeb? g TV G4 & IR GIfSI

'FerHTA T 7 o ofiworar 3 e SiiaA-3ed 9 @ 8. 397 a8 Atk woft off sl 78 @ wea, S guay SoaR Al ST de ddar-
TR 38| FE 1 IE o Tl &, oI BIohT ¥pel &, S QR BY GbeAdR 3T ¢ Fbdl &l Féf dl 31t 39 APATR & 39 [PAR &b
3T 3R AT 3171 ¢ ST 3PR JH 2 519 ¥ $& BT A8 &, 3PR TR AT Siad TBel S 8, A e TIdaH 1 a1 aTee, 379
AU 4R £ TE 1RV 3R 3R STHSBR B9 BT dNfeV| 5 Afth H 3 07 910 577d &, 395 H= [0l o1 FAraer of &l &1 e § fa<eH &
3R AT & 380 &, W AT P10 AT & off fraferd =1 gy Ravst 3R 319+ eRomsi &R 2% & 8raT &1 IR & 9ot 7l Afsdl
& fthed | gH I8 e urd &1

SubQuestion No : 60

0.60 9Rd Merier ¥ wpfel org BT e B -
Ans = 1. 3™

x 2.g&M

@ 3. Pl

x 4,389
Q.61 What is the purpose of the compatibility checker when opening an older MS Excel file in a newer version?
Ans  x 1. To update the file format

¥ 2. To enable macros

x 3. To repair the file

« 4. To check for features not supported in older versions

Q.62 Which of the following panels is used for changing the system settings in the Windows operating system?
Ans  x 1. Window Panel

¥ 2. Hardware Panel

3. System Panel

« 4. Control Panel

Q.63 How can you access the Control Panel in Windows 10?7
Ans  x 1. Open the Start Menu and select Control Panel

x 2. Right-click on the desktop

x 3. Press Ctrl + Alt + Delete

« 4. Type 'Control Panel' in the search box and select it
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Q.64 In MS PowerPoint, the feature that allows a user to control the size and proportions of a graphic or object inserted

into a slide is called:
Ans  x 1. Clipping
« 2. Resizing and Scaling

% 3.Cropping
x 4. Stretching

Q.65 Why is cyber security crucial for modern organisations?
Ans « 1. To protect sensitive information from unauthorised access and cyber attacks
x 2. To increase the number of software applications used within the organisation
x 3. To ensure that their websites load faster
x 4. To reduce the need for physical security measures
Q.66 In MS Word, when viewing a document in Print Preview, you notice that the text extends beyond the printable area
of the page. Which of the following actions would help you correct this issue?
Ans x 1. Increase the font size
x 2. Decrease the page margins
« 3. Use the 'Shrink One Page' option

% 4. Change the page orientation to portrait

0.67 Which of the following keyboard shortcuts is used to adjust the cell height in a spreadsheet of MS Excel?

Ans 1. Alt-H+O+V

v 2. Alt+H+O+H

X 3. AlHH+O+C

x4 Alt+H-O+W
Q.68 Which protocol is commonly used for secure communication over the web?
Ans  x 1.HTTPS

» 2. HTTS

x 3.FTP

x 4. SMTP

Q.69 Microsoft Windows is a type of a/an
Ans 1. word processor

2. operating system

* 3. spreadsheet application

x 4.BIOS

0.70 Which of the following file extensions is used for a word document in MS Word?

Ans « 1. docx
X 2. Doem
X3 dotx
x4 dot
Q.71  Which of the following utilities in Windows operating system allows users to add or remove Windows components
and features using a command-line interface?
Ans « 1. Command Prompt
x 2. Device Manager
x 3. Control Panel

x 4. Task Manager
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0.72 ‘What is the process of printing an MS Excel spreadsheet with the lines?

Ans v 1. Go to the Page Layout tab on the Main Menu bar of the spreadsheet -> Go to Gridlines -> Tick the Print check box -=
Go to File menu -> Click Print
x 2. Go to the Page Layout tab on the Main Menu bar of the spreadsheet - Go to Gridlines -> Tick the View check box ->
Go to File menu -> Click Print
x 3. Go to the Page Layout tab on the Main Menu bar of the spreadsheet -> Go to Headings -= Tick the View check box =
Go to File menu -> Click Print
x4 Go to the Page Layout tab on the Main Menu bar of spreadsheet -> Go to Headings -> Tick the Print check box -> Go
to File menu -> Click Print

Q.73 In MS Word, you want to move a paragraph from one part of a document to another. What is the correct sequence

of actions to achieve this using the Cut, Copy, and Paste commands?
Ans  x 1. Highlight the paragraph, go to the Insert tab, click Cut, move to the new location, and click Paste.
« 2. Highlight the paragraph, go to the Home tab, click Copy, move to the new location, and click Paste.
« 3. Highlight the paragraph, go to the Home tab, click Cut, move to the new location, and click Paste.

x 4. Highlight the paragraph, go to the Home tab, click Cut, move to the new location, and then click Copy.

Q.74 What function does an email message's 'Bcc:' header serve?
Ans  x 1. Toinclude attachments
x 2. To indicate the recipient
x 3. To indicate the sender
« 4. To hide the recipient from other recipients
Q.75 After selecting a template and creating a new MS PowerPoint 2010 presentation, how can you modify the template
design?
Ans  x 1.Change the background colour only.
« 2. Apply a different theme or modify elements in the Design tab.
x 3. Delete all slides and start over.

x 4. Edit individual slide content only.

Q.76 How to turn on/off paragraph marks in an MS Word document?
Ans  x1.Go to File -> Options -> Proofing -> Paragraph Marks -> Tick or Untick
« 2. Go to File -> Options -> Display -> Paragraph Marks -> Tick or Untick
% 3. Go to File -> Options -> Language -> Paragraph Marks -> Tick or Untick
* 4. Go to File -> Options -> General -> Paragraph Marks -> Tick or Untick
Q.77 Which of the following accurately describes the purpose of the 'robots.txt' file in the context of the World Wide
Web and websites?

Ans « 1. Itinstructs web crawlers and search engines about which pages or sections of the website should not be crawled or

indexed.
x 2. It ensures that the website is compatible with different browsers and devices by including necessary compatibility scripts.
% 3.1t is used to store the website's source code and content for backup purposes.

x 4. It provides metadata about the website, such as title and description, to search engines.

Q.78 Which internet port is typically used for SMTP operations?
Ans « 1. Port 25

» 2.Port 80

x 3. Port 110

x 4. Port 143
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Q.79 Which extension is used for saving a Microsoft Word document?
Ans x 1..png

x 2..pdf

x 3. .txt

« 4. .docx

Q.80 What is a Keylogger?
Ans  x 1. A program that encrypts all keyboard inputs for security

x 2. A software that helps in speeding up typing speed

3. A tool used to log into secure websites without a password

« 4. A hardware or software tool that records keystrokes made on a keyboard
0.81 The value of

3842
93— 6%+ (ﬁ) -2+ 2x2 =

Ans x1.703
« 2. 699
x3.702

x 4.696

Q.82 2 times the present age of Diksha is 12 years more than 2 times the present age of Amit, and 9 times the present

age of Amit is 11 years less than 8 times the present age of Diksha. The sum of the present ages (in years) of Diksha

and Amit is:
Ans *x1.79
x2.82
x3.77
v 4.80
Q.83 Nitin sells two articles for ¥4,963 each with no profit, no loss in the entire transaction. If one article was sold at a
gain of 75%, then the other article is sold at a loss of:
Ans  x1.28%
x2.32%
v 3.30%

x4.29%

Q.84 John gave 40% of his salary to his wife. Out of the remaining money, he also gave 10% to his son and another 10%
to his daughter. He deposited the remaining amount, which was 319,200, in the bank. Find his salary.
Ans « 1.340,000
% 2.342,000
% 3.345,000
% 4.330,000

0.85 Find the value of the given expression.

V390625
Ans s 1.5
%x2.25
x3.125

x 4.625
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Q.86 The average of the first 21 natural numbers is:

Ans e 1.1
% 2.10.5
x3.11.5
x4.12
Q.87 P can finish a work in 20 days, Q in 10 days and R in 16 days. Q and R started doing the work, but left after 4 days.
The remaining work was done by P in:
Ans » 1.7 days
x 2.6 days
x 3.8 days
x 4.9 days
Q.88 A shopkeeper marks two items at a total of ¥25,441. He sells one item at successive discounts of 25% and 10%, and

the other item at successive discounts of 30% and 20% on their respective marked prices. If the selling price of

both the items is the same, the marked price of the first item is:
Ans . 1.311,536
x 2.315,246
x 3.713,466
x 4.314,536
Q.89 The number of voters in a village decreased from 10,000 to 8500. Find the percentage decrease in the number of
voters.
Ans  x1.18%
x2.21%
% 3.17.65%

@ 4. 15%

0.90 ‘What should come in place of x in the given equation (for x = 0)?
224 +32Xx—-14%X4
142 —16x 12 —x2

Ans & 1.5
x2.7
x3.12
x 4.2
Q.91 What is the average speed of a truck which covers half the distance with a speed of 30 km/hr and the other half
with a speed of 20 km/hr?
Ans  x1.25km/hr
2. 24 km/hr
% 3.23 km/hr
x 4.29 km/hr
Q.92 The selling price of 20 books is equal to the cost price of 32 books. Find the loss or gain percentage.
Ans  »1.60% gam

x 2. 100
12

% loss

% gain

x3. 100
12

X 4.60% loss
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In a town, the voting percentage was 75%. The winner got 35% of the polled votes, the runner —up got 25% of the polled votes and the remaining votes were mvalid

If there were 12,000 voters in the town, by how many votes did the winner win the election?

»1.900

%2.895
x 3.935

x 4.925

0.94 Evaluate: 1850 - [450 - {210 - (90 - 70 - 12)}]

Ans

0.95

Ans

0.96

Ans

0.97

Ans

0.98

Ans

» 1.1602

x2.1677

x 3.1462

% 4.1532
The income of Amit in 2019 was ¥23,500. He gets an increment of 30% every year. What was his income (in ¥) in
2021?

% 1.30,550

x 2.37,600

v 3.39,715

x 4.23,500

Three taps, A, B and C, can fill a tank in 37 hours 30 minutes, 50 hours, and 30 hours, respectively. If tap A runs
continuously and taps B and C are opened alternately for one hour each, starting with B, how many hours will it
take to fill the tank to 96% capacity?

x1.12
x2.15
x3.16

v4.18

A person covers a certain distance in 8 hours at a speed of 6 km/h and some more distance in 10 hours at a speed
of 4 km/h. Find his average speed for the entire distance covered.
1.8
v 45 km/h

2. .8
X% 35 km/h

5 8
x3 55 km/h

4 .8
x4 6 km/h

The sum of five numbers is 655. The average of the first two numbers is 75 and the third number is 102. Find the
average of the remaining two numbers?

x 1.177

x2.178

«3.2015

x4.202.5
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Q.99 An item is marked 80% higher than its cost price. Even after allowing some discount, the shopkeeper earned 53%
profit. Find the discount percentage allowed by the shopkeeper.

Ans  x1.17%
x2.16%
v 3.15%
x4.13%
Q.100 The ratio of Mohan's age to his father's age is 1: 2. After 9 years, the ratio of their ages will be 4 : 7. What was the
ratio of their ages 18 years ago?
Ans #1.1:4
x2.1:6
®x3.1:5

x4.1:3
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